AP Calculus Summer
Packet

The following packet is due for accuracy the first day back from summer break. It will
count as your first grade! To make sure you do well in the class, if you need help, ask a
friend or email one of us.

Show work for every problem on a separate piece of paper. Simplify your answers.
No Work=No Credit. This packet is intended to be done without a calculator.

Feel free and contact either of us over the summer:
Mrs. Barlow: danielle.barlow@palmbeachschools.org
Mrs. Jacobowitz: stacy.jacobowitz@palmbeachschools.org

Calculator needed for next year:
A graphing calculator is needed. We recommend the TI-84 CE.

TI-84 Pius CE

Do not get a Casio calculator (even though it is cheaper)! It usually goes on sale
at the end of the summer. (Talk to one of us if you truly have financial need)
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Solve the following using a sign chart:
40.x + 4x +3 >0

41. x:{x+2

2 x-0x+0E-9=0

Find the x and y intercepts:
43. y=x +x-2

44 y =x5 — 4x

Find the inverse:
45 f(x) =+/10 — 3x

6. f(x) = =

Vifrite an equation of a line through the given
point and parallel to the given line:

47. (2, 1) and 4x — 2y = 3

48. (— 2,3)andx + 2y =8

\Write in exponential form:

1 — —
49. L =log, 7 50. 3 = Inx
Write in logarithmic form:
51. 6° = 216 52. b = 625

Evaluate the logs without a calculator:
1

&0. Under ideal conditions a certain bacteria
population is known to double every three hours.
Supposes that there are initially 100 bacteria.

a) What is the population after 15 hours?

b) What is the population after t hours?

c) Estimate the population after 20 hours?

d) Graph the population function?

&) Estimate the time that the population is 50,000.

&1. Find the average rate of change of f(x) = 3 — 5
From x=6 to x=10

62. Evaluate the trig (no calculator):

a) sfn% b) cos?ﬁ—x c) mn‘:'T“
d) sec 43'1 €) cos 3:'1 ) mraT“
q) cus% h) r:sc% i) sinm

il i‘ﬂ-‘?‘l?TT[ k) sec{— m) ) sec 3;[

63. Solve the trig equations (answers from 0 = 8 < 2u):
a) 2sin8 =1 b) tan'8 — tanB = 0
c) 20058 — 3cos8 + 1 =10 d) sinB = — cosB
For questions #64-67 find the indicated limit:
64. f(x) =+1-=x x<=1

xr+1 x=1
a) lim b) lim C) lim d) lim
=1 =1 =1y

) Is it continuous at 17 f) why?
g) If not, type of discontinuity ?

53. log 64 94, log.—— 99. log (- 9) 5. f) =2+l xe<2
3, x=2
Solve for x: 3x -1, x=2
56 2 = 5§ 57. In(5 - 2x)= -3 a) lim b) lim_ C) ]im_ d) lim e)lim
x—F—0 x—*2 x—+2 x—+2 x—Fow
58. Inx + In(x — 1) = 1 59. log 20 = x f)lIs it continuous at 27 g) Why?

h) If not, type of discontinuity ?
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66. f(x) = % (Hint: graphing makes this easier!)

a) lim b)

X—> —0

e) lim f) lim
x—=1" x—1"

i) Is it continuous at - 2?

lim d) lim
x—> -2t x> -2

h) lim

X —> oo

k) If not, type of discontinuity? I) Is it continuous at 17?
m) why? n) If not, type of discontinuity?

67. Do the following limits without graphing (unless you are stuck)

a) lim /x + 2

x4

x2—9
x—3

c) lim
x—3

b) lim =%

2
. 2x +x+1
f) lim ———

_ x+2
x—> =2

2
. 3x +27

h) lim —
X —> 00 x =27

i) lim 5x°+27
— oo 20x"+10x+9

4

. —6x +2

|) lim Er—
x = oo 2x +1



